
Chemical Equilibrium



▪Forward Rxn: A + B  C + D

▪Reverse Rxn: A + B  C + D

▪Written as: 

A + B C + D

OR

A + B ↔ C + D



▪A reversible reaction has both an endothermic 
rxn and an exothermic rxn

Reactants

Products

Reactants

Exothermic 
(high to low E)

(release)
Endothermic

(low to high E)
(absorb)



▪At first when a reaction begins, the reactants 
begin forming products



▪ As the reactants are used up, the rate of 
the forward reaction slows down



▪When there are more products, the 
reverse reaction rate begins to increase



▪ The forward and reverse reactions are 
happening at the same time



▪When the rate forward = the rate reverse you 
have chemical equilibrium



▪ The rate forward = the rate reverse, as long as 
the factors that control rates stay the same



▪ If a system is in chemical equilibrium then the 
concentrations of the reactants and products 
must be constant
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▪When concentration of reactants and of 
products are constant

▪When rate of forward reaction is equal to the 
rate of the reverse
▪RateRP = RatePR


